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Question : 1 
Statement: 
A leading university has begun a practice of displaying 
results  only  on  the  Internet  rather  than on  the main 
notice boards. 
Assumptions: 
I. All the students enrolled in the university have access 
to the Internet at home. 
II. Most of the students referred to the result displayed 
on  both  the  internet  as  well  as  the  notice  boards 
earlier. 
a) If only Assumption I is implicit 
b) If only Assumption II is implicit 
c) If either Assumption I or II is implicit 
d) If neither Assumption I nor II is implicit 
e) If both Assumptions I and II are implicit 
 
Question : 2 
Statement: 
In  order  to  replenish  the  nutrients  in  the  soil,  it  is 
important to grow different types of crops every 
alternate season. 
Assumptions: 
I. A crop can never be grown for the second time in the 
same field. 
II. If a different crop is grown in the successive season, 
no additional nutrients such as fertilizers are required 
to be added to the soil. 
a) If only Assumption I is implicit 
b) If only Assumption II is implicit 
c) If either Assumption I or II is implicit 
d) If neither Assumption I nor II is implicit 
e) If both Assumptions I and II are implicit 
 
Question : 3 
Statement: 
If farmers want to improve their yield, they must use 
organic fertilizers in place of chemical fertilizers. 
Assumptions: 
I. Chemical fertilizers have certain ill effects on health. 
II. Chemical fertilizers do not produce as much yield as 
organic fertilizers. 
a) If only Assumption I is implicit 
b) If only Assumption II is implicit 
c) If either Assumption I or II is implicit 

d) If neither Assumption I nor II is implicit 
e) If both Assumptions I and II are implicit 
 
Question : 4 
Statement: 
Store eatables in the deep freeze in order to preserve 
these for a long time. 
Assumptions: 
I. Food material remains eatable even after deep 
freezing for a long time. 
II.  It  is  not  possible  to  store  any  eatable  at  room 
temperature even for a shorter period of time. 
a) If only Assumption I is implicit 
b) If only Assumption II is implicit 
c) If either Assumption I or II is implicit 
d) If neither Assumption I nor II is implicit 
e) If both Assumptions I and II are implicit 
 
Question : 5 
Statement: 
A  leading  NGO  decided  to  open  a  library  containing 
books  and  newspapers  of  all  major  publishers  in  a 
remote village. 
Assumptions: 
I. All other nearby villages already have similar libraries. 
II. There is an adequate number of literate people in 
the village. 
a) If only Assumption I is implicit 
b) If only Assumption II is implicit 
c) If either Assumption I or II is implicit 
d) If neither Assumption I nor II is implicit 
e) If both Assumptions I and II are implicit 
 
Question : 6 
Statement: 
Banks should always check financial status before 
lending money to a client. 
Assumptions: 
I. Checking before lending would give a true picture of 
the client's financial status. 
II. Clients sometimes may not present the correct 
picture of their ability to repay the loan amount to the 
bank. 
a) If only Assumption I is implicit 
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b) If only Assumption II is implicit 
c) If either Assumption I or II is implicit 
d) If neither Assumption I nor II is implicit 
e) If both Assumptions I and II are implicit. 
 
Question : 7 
Statement: 
The  Government  has  decided  to  run  all  commercial 
vehicles on biofuels in order to save the depleting fossil 
fuel reserves. 
Assumptions: 
I.  It  is  possible  to  switch  over  from  fossil  fuels  to 
biofuels for vehicles. 
II. A sufficient amount of bio-fuel can be produced in 
the country to run all commercial vehicles. 
a) If only Assumption I is implicit 
b) If only Assumption II is implicit 
c) If either Assumption I or II is implicit 
d) If neither Assumption I nor II is implicit 
e) If both Assumptions I and II are implicit. 
 
Question : 8 
Statement: 
To save the environment enforce a total ban on illegal 
mining throughout the country. 
Assumptions: 
I. Mining which is done legally does not cause any harm 
to the environment. 
II. Mining is one of the factors responsible for 
environmental degradation. 
a) If only Assumption I is implicit 
b) If only Assumption II is implicit 
c) If either Assumption I or II is implicit 
d) If neither Assumption I nor II is implicit 
e) If both Assumptions I and II are implicit. 
 
Question : 9 
Statement: 
Give  adequate  job-related  training  to  the  employees 
before assigning them full-fledged work. 
Assumptions: 
I. Training helps in boosting the performance of 
employees. 
II. Employees have no skill sets before training is 
provided to them. 

a) If only Assumption I is implicit 
b) If only Assumption II is implicit 
c) If either Assumption I or II is implicit 
d) If neither Assumption I nor II is implicit 
e) If both Assumptions I and II are implicit. 
 
Question : 10 
Statement: 
Take a ferry or a boat instead of a bus to reach the Krabi 
islands faster. 
Assumptions: 
I. The islands being in remote locations are not easily 
accessible. 
II. Ferries and boats are available to travel to the Krabi 
islands. 
a) If only Assumption I is implicit 
b) If only Assumption II is implicit 
c) If either Assumption I or II is implicit 
d) If neither Assumption I nor II is implicit 
e) If both Assumptions I and II are implicit. 
 
Question : 11[S.B.I.P.O. 2001] 
Statement: 
"Private  property,  trespassers  will  be  prosecuted"-A 
notice on a plot of land. 
Assumptions: 
I.  The  passerby  may  read  the  notice  and  may  not 
trespass. 
II. The people are scared of prosecution. 
a) If only assumption I is implicit; 
b) If only assumption II is implicit; 
c) If either I or II is implicit; 
d) If neither I nor II is implicit and 
e) If both I and II are implicit. 
 
Question : 12[R.B.I. 2004] 
Statement: 
The government has decided to disinvest a large chunk 
of  its  equity  in  select  public  sector  undertakings  for 
better fiscal management. 
Assumptions: 
I.  The  amount  generated  out  of  the  disinvestment 
process may  reduce  substantially the  mounting fiscal 
deficits. 
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II. There will be enough demand in the market for the 
shares of these undertakings. 
a) If only assumption I is implicit; 
b) If only assumption II is implicit; 
c) If either I or II is implicit; 
d) If neither I nor II is implicit and 
e) If both I and II are implicit. 
 
Question : 13[S.S.C. 2003] 
Statement: 
If he is intelligent, he will pass the examination. 
Assumptions: 
I. To pass, he must be intelligent. 
II. He will pass the examination. 
a) If only assumption I is implicit; 
b) If only assumption II is implicit; 
c) If either I or II is implicit; 
d) If neither I nor II is implicit and 
e) If both I and II are implicit. 
 
Question : 14[Bank P.O. 2003] 
Statement: 
Kartick left for Delhi on Tuesday by train to attend a 
function  to  be  held  on  Friday  at  his  uncle's  house  in 
Delhi. 
Assumptions: 
I. Kartick may reach Delhi on Wednesday. 
II. Kartick may reach Delhi before Friday. 
a) If only assumption I is implicit; 
b) If only assumption II is implicit; 
c) If either I or II is implicit; 
d) If neither I nor II is implicit and 
e) If both I and II are implicit. 
 
Question : 15[M.A.T. 2005] 
Statement: 
Lack of stimulation in the first four or five years of life 
can have adverse consequences. 
Assumptions: 
I. A great part of the development of observed 
intelligence occurs in the earliest years of life. 
II. 50 percent of the measurable intelligence at age of 
17 is already predictable by the age of four. 
a) If only assumption I is implicit; 
b) If only assumption II is implicit; 

c) If either I or II is implicit; 
d) If neither I nor II is implicit and 
e) If both I and II are implicit. 
 
Question : 16[R.R.B. 2004] 
Statement: 
“To keep myself up-to-date, I always listen to 9.00 p.m. 
news  on  the  radio.”-  A  candidate  tells  the  interview 
board. 
Assumptions: 
I. The candidate does not read the newspaper. 
II. Recent news is broadcast only on the radio. 
a) If only assumption I is implicit; 
b) If only assumption II is implicit; 
c) If either I or II is implicit; 
d) If neither I nor II is implicit and 
e) If both I and II are implicit. 
 
Question : 17[R.B.I. 2005] 
Statement: 
There has been a remarkable increase in air traffic in 
India during the past few years. 
Assumptions: 
I. Travelling by air has become a status symbol now. 
II. A large number of people are able to afford air travel 
now. 
a) If only assumption I is implicit; 
b) If only assumption II is implicit; 
c) If either I or II is implicit; 
d) If neither I nor II is implicit and 
e) If both I and II are implicit. 
 
Question : 18[M.A.T. 2003] 
Statement: 
Science is a sort of news agency comparable in 
principle to other news agencies. But this news agency 
gives us information which is reliable to an 
extraordinarily high degree due to elaborate 
techniques  of  verification  and  its  capacity  to  survive 
centuries.  So,  science  should  be  read  with  as  much 
interest as we read the news. 
Assumptions: 
I. Science encourages the investigative spirit. 
II. People read the news out of interest. 
a) If only assumption I is implicit; 
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b) If only assumption II is implicit; 
c) If either I or II is implicit; 
d) If neither I nor II is implicit and 
e) If both I and II are implicit. 
 
Question : 19[SIDBI, 2000] 
Statement: 
"It  has  become  a  necessity  to  computerize  all  the 
functions of our Institute to maintain the present 
position." - A statement of the Director of XYZ Institute. 
Assumptions: 
I. Unless computerized, the Institute will fall behind the 
race. 
II. The functions of the Institute are too complex to be 
handled manually. 
a) If only assumption I is implicit; 
b) If only assumption II is implicit; 
c) If either I or II is implicit; 
d) If neither I nor II is implicit and 
e) If both I and II are implicit. 
 
Question : 20[M.B.A. 2002] 
Statement: 
The product X that you have asked for is not with us but 
can be made available against firm order from you. 
Assumptions: 
I. The product X is not in great demand. 
II.  The  product  X  is  out  of  stock  as  a  new  model  is 
coming up. 
a) If only assumption I is implicit; 
b) If only assumption II is implicit; 
c) If either I or II is implicit; 
d) If neither I nor II is implicit and 
e) If both I and II are implicit. 
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